2 =
X =2x—y? 42y 5 AFRAFHEY, (x+ay)(x - by +c) 7F =it
ol W, a, b, cE T=AHE & A2




2.

(¥ +x)(x* + x+1) - 65 A5-EoloHH?

@(x—l)(x+2)(x2+x+3) @ (x-1)(x+2)(x* +x-3)

@ x=-2)x+1)(*+x+3) @ (x-1)(x+2)(x*-x+3)

® (x+1)(x-2)(x-x+3)

@

+x = X2} 5pAk
(% ) =X(X+1)-6

=X2+X-6

=(X+3)(X-2)

=(x+x+3)(x*+x-2)
=(x-1)(x+2)(x*+x+3)




(x4 —8x2 - 9) + (x2 - )% A Atotof gt

@x2+1 @ x*-1 @ 2+2
@ x%2-2 ® x*+3

x* - 8x2 —9—( 9)(x2—|—1)
— 2t




S (x— 1)% 4 272 vhE A QRS 2L

O (x-1)(x*>+3) @ (x-1)(x*-x-2)
® (x=1)(x*+3x+3) @ (x+2)(x>+x+7)
@) (x+2)(x2 - 5x+ 13)

x-13 A=x 2|2t
F A =A% 4+27=(A+3)(A%2-34+9)
THA] x — 12 HASHH (x + 2)(x% - 5x + 13)




5.

3 4 = (4 x 200 +ax+b) L WL AE ab

e

> E.

> ®™EH:

9

ar
H

flo

~&B

(3 H)

S.ab =

=(x242)2-x2
= +x+2)(x2-x+2)

. a:—l,b:Q

-1%x2=-2




x?—2x—y* + 2y 8 A5l SHHEY (x4 ay)(x - by +¢) 7F HrebL
&, a+b+c2 Fa Fotole

Ct -
= -

>
> ®MEt: 4

oH =

~&B \

x2—2x-y* +2y

= (x> =»*) - 2(x-y)
=(x+y-2)(x-y)

= (x+ay)(x-by+c)
Al4-E vl aotH
a=-1,b=-1,c=-2
La+b+c=-1-1-2=-4




T fx)=x3+4x2+x-6=(x+a)(x+b)(x+c) L W, a+b+c
of e

® 2 @3 O @ 5 ® 6

B

ZYAEL At
1|1 4 -6

5 6
[0

-6

Lo

—_
—_

2|1

31

1
W W Ot

=)

B4 x-6=(x-1D(x+2)(x+3)
La+b+c=4




8. xOf ek oF A w3 - 2x% — x4+ 27} (x +a)(x +b)(x+¢) 2 A+ES]
A, a® 4 b + 29 2?7 (H, a,b,c=A)

s OF ® 7 @ 8 ® 9

B2 —x+2=(x+1)(x-1)(x-2)
A2+ +c2=(-1)2+124+22=6




19993 + 1

o) 1o
1998><1999+14 we

a = 19992t 5FH
1998 x1999+ 1= (a-1a+1=a?-a+1
. 19993 +1 a®+1
T 1998x 1999+ 1 a?—a+1
(a+1)(a —a+1)
- 2-—a+1
:a+1=2000




10. 5 ohahA] 3xt—2x% —9x2+4, 3x3-3x2—6x 9] H|UFLFLE FL5HH?

O (x-1)(x-2) @ @+)x+2) @u+1)x-2)
@ (x-1)(x-2) ® (x+1)(x-1)

B

31t 243 -9x2 4+ 4
=x+1)(x-2)(x+1)(Bx-2)
3x3-3x2—-6x=3x(x-2)(x +1)
LAY (x-2) (x+ 1)




11. o2 5 22+ 32 +2xy - 2x — 2y 9] A7t opd ALY

@x—l—y @_x_y

® x+y-2
@X—y ©2x+2y

~&B

(FA) = (" + 200 +%) - 2(x +)
=(x+y)?-2(x+y)
= (x+)(x+y-2)

sty

T,

(e )+ y=2) === +y =)

—(=x
%(2x+ 2y)(x +y-2)




[+ y)" 4+ (x=y)" 2= [(x+y)" = (x=y)"]> =4 x 3"
@3 @ 4 ® 6 @ 7 ® 9
B

[ +3)" + (x =) = [(x + )" = (x = y)"]?

=4x3"
H(x+y)(x-y)P = 4x3"
4(x? —y2) =4x3"
Lox2-y?=3




13. 1-4x>—y*+4xy = (1 +ax+by)(1 +cx+dy) € W, ac+ bd ©] FH-&
Fap?

(BA) =1- (4x* —4xy +»?)
=17 - (2x-y)?
=(14+2x-y)(1-2x+y)

a=2b=-1,c=-2d=1

wac+bd =2x(-2)+(-1)x1=-5




14. o= 27 & 0L

st

e 5427

rr
ol

2~
e

D 2y 4+ =(x+y+2)?%-2(xy+yz+2zx)
O ¥ +y* = (x+y)*-2xy
© (P+x+D(2-x-1)=x*+x+1

@ x?-x-2=(x-2)(x+1)

@ (x-y)?=x"-3x%y+3x°-)°

v oo G oe

® @

© x+1=A% X5t 7fshd
(F+ARP-A) =x*-A2=x*-x>-2x-1




15. ofehA] 2x2—2y? + 3xy+ 5x+ 5y +3 = F Y4
SIS m, T UxpAlo] oz 2o 7109

o 1 H

® 3x+3y-2 @ 3x-y-4 (@)3x+y+4

@ 3x+y-2 ® 3x—y+2

1o
il
lo
Ll
rO

2x% 4+ (3y + 5)x — (2y® - 5y - 3)
={2x+ 2+ Hx-(y-3)}
L (2x 429+ 1)+ (x—y+3)=3x+y+4




16.

10 +4xt + 3% -6°] (x+a)(x+b)(x* +¢)(x* +d) 2 A2 2 o,
a+b+c+do H2?

® -5 @ -2 ® 0 @ 3 ®)5

ZHAH S o] 8]tt.

x4+ 4xt + 2% =6 = (x+1)(x - 1)(x* + 5x2 + 6)
= (x+1)(x - 1)(x*> +2)(x* + 3)
La+b+c+d=5




17. oL F x -4 - 72 + 34x - 24 2 A5-E3) 51992 o,
289

@ x-1 @ x-2 ® x+3 @x+4

~&B

flx) = x* —4x® — 7x% + 34x — 242} 51H
71 = £(2) = 00122

f(x) Ex-1,x-25 5= ZE=rth
ZHARS of HH =,

xt—4x® —7x® + 34x - 24
=(x-1)(x-2)(x*-x-12)
=(x—-1)(x—2)(x—4)(x+3)




18.

HS—1 e
_1_1—4%1“5:%5}@?

112(112 + 1)

O 119 @)120 ® 121

@ 122

® 123

(112)2 + (112) + 1
(112 = 1){(11%)2 + (11%) + 1}
(112)2 + (112) + 1
=112-1=(11+1)(11-1) =120




6 4 2
- x*+x -1 _
19. x=1001Q o, 2" TX 7 o) zro T15toda},
X = Bttt U= o]'o:]

=
H -

>
> =D 1000

B

-t a2-1 (x* +1)(x®-1)
Prdtxrl (At )(x+1)
=x-1
=1001 -1
= 1000




20. x+y+z=1Lxy+yz+zx=2xz=3<L W, (x+y)y+2)(z+x)
o] k27

@1 o2 03 @4 6

x+y+z=12HI5H

(FA) =(1-200-x1-y)
=1-(x+y+2)+ (xy+yz+2x) - xyz
—1-142-3=-1




21, o3 AL ARG ot - 3x%% + 4yt = (2 + axy + by?) (5 +
exy+dy*) B W, a+b+c+d 2 FE Aot (a,b,c,dv= )

> E.

> =g 4

(_i_/}_]l) — x4 + 4x2y2 + 4y4 _ 7x2y2

= (x2 +2y?)? = Tx%y?

= (2% + VTxy + 2y%) (5% - VTxy + 2y7)
a+b+c+d=4




22. % O} £(x) = 23 —ax + b, g(x) = ¥ + ax — 2b 9] HFEEA}
x=19 o, f(x),8(x) o HaFuisE F-5HA?

O -2+ )+ @G-+ )+ 2)
® (-DE+12(x+2) @ (= (x+4x+2)

® (x-1)(x+4)(x+2)?

~&B

Q1= ol o)

f)y=1-a+b=0
g)=14+a-2b=0
AYSIH g =3,b=2

flx) =2 —3x+2
ZHAIHE o]-85tH,




28 T A4S AFFAL < 1ol

®s

@ -3 ® -1

A, Fol 23 +ax? +bx+ 39 W,

@ 1

B

AL

/~1

>
>
+

(x

o
—
Sk

a2

2x3

a+2 at+b+2

2 a+2 a+b+2|a+b+5=0
2 a+4

2 a+4|a+b+6=0
a+b=-52a+b=
a=-1,b=-
a—-b=3

—

-6 99

Dp, (x=1)q(p.q& A2 2)2F
(x=1)2pg =2x3 + ax® + bx + 3
¥ 4+bx+3=x-12 &= T

o4 Aok

2~
e

Azo

-1 —

ol

il

o]

B

(x—1)2(2x + k)
(x2 =2x+1)(2x + k)
A4 WIS k= 3
o|x}}e] A

SLoa=-—1

G| A4S vl T
—6x+2x=bx.. b=-4
Ta-b=3

=233 +ax® +bx+3
=2x3 +ax®> +bx+3

45 H|5HH 3x2 — 4x% = ax?




24. P+4ax—99F 2 +bx+c2 L 2x2—4x—6, HAFGTE B -x2-9x+9
1
ce

olth. a—b+ o] g Fatolat. (& a, b,

> E.

> Het: 7

B

A=x*+ax-9=Gp

B=x%+bx+c=Gqze}stH

A+B=(p+q)G=2x>-4x—6=2(x+1)(x-3)

L=pgG=x3-x>-9x+9=x%(x-1)-9(x-1)

=(x-DE*-9) = (x-1)(x+3)(x-3)

oA, G=x-3, p=x+3, g=x—-1°|t}h

T A=(x+3)(x-3)=x*-9
B=(x-1)(x-3)=x>-4x+3

La=0,b=-4¢c=3

La-b+c=T7




o] A7k 191 Al o174 A, B, C7F TR A 2GS WE

@ A, B9 HFr= x - 20|th
© B, C9] g
© A, C9 HaFulae x® - 2x2 — x + 20|t}

® x2-4x+3 @x2—3x+2 ® x>-2x+1

@ x2-2x-3 ® x2-x+2

~&B

olafate] A7l 191 A o144 A, B, Col sto]

A, B Hj5of7t x - 20|22

A=(x=-2)(x-0a), B=(x=-2)(x-B)

B, Co g7t x +10|E2
=x+1)x-2),C=(x+1)(x-7y)

A €O AaB4E

W¥-2x2-x+2=(x+1)(x-2)(x-1)

Lx—a=x—-y=x-1

LA=(x-2)(x-1)=x%*-3x+2




k= GE A-B, AT LE AKBE
(A% B?)% (A?-AB) 2} 22 727

@ AL @AG

D1 @ A 3® AB

A =aG, B=0bG (a, b= A=24)2 ot
A2 .- B? = 42G? - b2G? = G?

A2 - AB = a2G? - abG? = aG?

- (A% B®)% (A% - AB)= G*%aG? = aG?

=AG




27. F O34 A, B AT GE A« B, LT
7

UetU7]1 2 & o, (A2 « B2)% (A2« AB) &} -2 A

@46 @ A ® AL

~&B

A =Ga, B=Gb(a,b= NE2L)E O
(A% x B%)% (A? * AB)

= (G?a® * G*b*) % (G*a® + G*ab)

= G*%*G?a

=G%a

o]

—




28. 1999719] t}atAl x2 —2x -1, x2 —2x 2, -+, x2 —2x—1999 Zof|A
AG=7t A4l AxpAlo] Fo 2 Q1B 54% AL BT IRI7R

@usH owuA 5K @64 G A

x2=2x-n = (x+a)(x=b) (a, b= ZAA5) 2t otH (1 < n < 1999
< 7pedsp)

ab=n, a=b-2
n=1-3,2-4,3-5, ---, 43-45(=1935) 9] 43 7}




29. (x+2)(x-3)(x+6)(x—9)+21x% & A5EdoHA (x2 4 p) (x®+qx—18)
olth. pg ] g2 F-otolet.

»
> = 72

B

) -

(x+2)(x =9 H(x = 3)(x +6)} + 21x?

x? = Tx — 18)(x% + 3x — 18) + 21x?

(x%2 = 18) — TxH{(x® — 18) + 3x} + 21x2

x% = 18)2 — 4x(x? — 18) — 21x% + 2142
= (x% - 18)(x% - 4x - 18)

wekA p= 18, g = 4

s.opg=(-18)x (-4) =72

—~ =~ —~—




30. (x+1)(x+2)(x+3)(x+4)—k7} ]2t o] LA FA =2 <l
g o, A ko] g& Ashd?

@1 o1 ® 0 @ 2 ® -2

~&B

(x+1D)(x+2)(x+3)(x+4) -k

=(x+1)x+4)(x+2)(x+3) -k

= (x> +5x+4)(x®> +5x+6) —k

x% +5x = X2 2| gstH

() =(X+4)(X+6) -k
=X2+10X+24 -k

A A O] HHH 24 -k =25

Sok=-1




31. x*-112+1°] (P +ax+b)(x®>+3x+b) 2 AFEND W, a+b
o] 27

=116+ 1= (2% - 1)2 - 942
= (¥ = 1)* = (3x)°
=(x?-3x-1)(x>+3x-1)
(x +ax +b)(x* + 3x + b)

La=-3, b=-

L a+b=-




=% A a®(b-c)+b*(c—a)+c3(a—b) 2] A7} oF

D a-b @ b-c B c-a

(@)a—b-{-c

@ a+b+c

jul

A

Kok
—

?

(%}‘]): a’(b- c) - a(b3 -+ bc(b2 -c?)
{a® —a(b? + bc + ¢?) + be(b + ¢)}
{b%(c = a) + b(c? - ca) — a(c? - a?)}
(c —a)(b*® + bc — ac — a?)
(c—a)fe(b—a) + (b° —a?)}
(c—a)(b-a)(a+b+c)




33. 4. b, c7} AABC O] AlH9] Zo]E e 1), 18 54
0

ab® — d%c + b%c - b® = 0 FE5H= 41715 9

R |

® 2
()ﬂ%%ﬁﬁ%
®
@
®

a® +a’b —ab® —a’c+b*c-b3 =0
a*(a+b)—b*(a+b)—c(a®>-b?) =0
(a+b)(a* — ac + bc—b?) =0
(a+b){((a-Db)(a+Db)—cla—b)) =
(a+b)a-b)la+b-c)=0
a+b>0,a+b—c>0°EZ2 a=0b
= b3l O 5WHZT




34. o 1Y} ol Al ¥l o7t a, b, ¢ A
Q1 AABCONA a® + b3 + ¢ —ab(a+ b) +
be(b + ¢) — ca(c +a) = 0°] LT of,
AABCE oj® A7 71

a® + b3 + 3 —ab(a+ b) + be(b + ¢) — ca(c + a)
=a®+ b3 + ¢ - a®b - ab? + b*c + bc? - c?a - ca®
=a - (b+c)a® - (b + cH)a+ b3 + bc + bc? + 3
3—(b+c)a2—(b2+c2)a+b2(b+c)+c2(b+c)
a® - (b+c)a* - (b*> 4+ c*)a+ (b+c)(b* + ¢?)
3—(b+c)a®-(b*+c2)(a-b-c)
:(a—b—c)a -B?+cH)(a-b-c)
=(a-b-c)(a®-b>-c?
=0
o, a, b, c= AP A WO LoJo|BR a#b+c
L at-b:-c2=0,
Z a2 = b? + 2
wabq, AABCE a =
= A = 90° 9] HZhatzkagoltt,

"J ﬂllﬂl




{c = (a+b)Hc? - (a® + b?)}

c—a-b#0°]2 c2-a?2-02=0




36. X'+ 4yt = (6% = 20y + 2°) (6% + 2xy + 2°) = ©]-85O] Tha 49

(11% + 324)(23* + 324)(35% 4 324)(47* + 324)
(54 + 324) (174 + 324)(29% + 324)(414 + 324)

@ 192 @193 ® 194 @ 195 ® 196

B

x4yt = (6 = 2xy + 2y%) (2% + 2xy + 2y?)

={(x=y)2+y H(x+y)? +y} ol

324 =4x3%0|B2&2

117 +324 = (112 -2Xx 11x342x3%)(11%2 +2Xx 11 X 3+ 2% 3%)
={(11-3)% + 32}{(11 + 3)2 + 3%}

= (82 +32)(142 + 3?%)

mebA 22 B Ao HH Fo]7] A2

{(8% + 3%)(142 + 32)}{(202 + 32)(262 + 32)}

{(22 + 32)(82 + 32)}{(142 + 32)(202 + 32)}

{(322 + 32)(382 + 32)}{(442 + 32)(502 + 32)}

{(262 + 32)(322 + 32)}{(382 + 32)(442 + 32))

502 +3%2 2509

T 92132~ 13

=193




8993 + 1

899 x 898 + 1

@27

@ 2574 ® 2174

@ 1874

® 1570

B

(Z4) =

a = 899 &t 2| g5

a®+1

ala-1)+1

(a+1)(a*>—a+1)

a?-a+1

=a+1=900
900 = 22 x 32 x 52
9009 k50 A4 = (24 1) x

=27

2+1)x

(24+1)




38.

T oA A, Bl H5te] (A, B} = A% + B? - ABE}
1, 2x2 = 3) - 72 A% WA A5 FTE o]
AL

D x-V2 @ x-1 @x

@ x+1 ® x+ V2

B

(x2+1, 2x2 -3} -7
=(2+1)2+(2x2-3)2-(x2+1)(24%2-3) -7
=xt+2% +1+4xt 1232+ 9-2xt + x> +3-7
=3x1-9x2 +6

=3(x*-3x%+2)

=3(x2-1)(x*-2)

=3(x-1)(x+1)(x= V2)(x+ V2)




TFaA] a2 + 4x + 2k 9k 22 + 3x + k9] HTFFSIL xo] th
A W), 5 k] FHe okl

1S n

Ct -
= -

>
> =g 2

~&B ‘

A=x>4+4x+2k, B=x>+3x+ k2Ll HA-B=x+k
A-BE _41311_1_01:/\ = o]—/l\—i 71-—1
Zoldl 24014 5 49 Arjgerart dRAolne
= o] AL x4+ kot
A, B AR x4+ kS A5 X DE
A9 x = -k & HYstHA
K2 2%k =0,k(k-2)=0
L k=0EFk=2
wfepd, gEEe) T 20l




40. FTFFA 2 4 3x 4 p 24 prxt €] AT - 13x 4 129
o, p+q 2] FH2?

@1 @02 03 @4 ©-

~&B

¥ —13x +12 = (x — 1)(x = 3)(x + 4) F TF4 2] Fo] 4%}
Alo|al FAFH 7 33 ol B R FdlFofe 124 ol
(- AB=GL)

i1)GCM.=x-1°Hp=-4,4=3

O]]IHC AL (x—1)(x+4), (x—1)(x-3)0]B2 ZAe] gr=t},
ii) G.CM.=x-3°|" p=-18, ¢ =45

o] W &= A2 (x—3)(x+6), (x—3)(x—15)°]B=2 Z7of 2]

=t
i) G.CM. = x+4¢ W= i) e 25
1), i), i) A p+qg=-1




41. (a+Db)(b+c)(c+a)+abcg A3l SFH?

® (a+ b)(ab + bc + ca) @ (b+ c)(ab + bc + ca)
® (a+b)a+b+c) @(a—l—b—l—c)(ab—l—bc—i—ca)

® (b+c)a+b+c)

~&B

a+b+c=ke oA

(FA)= (k - a)(k - b)(k — c) + abc

=k3—(a+ b+ c)k* + (ab + bc + ca)k — abc + abe
=k{k* = (a+ b+ c)k+ (ab+bc + ca)}
=(a+b+c)(ab+bc+ca) (fa+b+c=k)




42.

bx(a®x? + 2a%y? + b?y?) +ay(a2x2 + 2b%x% + b%y?) < 7hral
bx + ay bx + ay

H?

@® a?x? + b?%y? @(ax + by)?

® (bx+ay)? @ 2(a%x% + b%y?)

® (ax+ by)(bx + ay)

B

(B2 = bx(a®x? + 2a%y? + b*y?) + ay(a®x* + 2b%x* + b?y?)
= bx(a®x? + b*y?) + 2a*bxy?* + ay(a®x*> + b*y?) + 2ab*x>y
= (a’x* + b*y?)(bx + ay) + 2abxy(ay + bx)

= (bx + ay)(a®x? + 2abxy + b*y?)

= (bx + ay)(ax + by)?

w2bA, (£ )= (ax + by)?




& A (@ + b + ¢)(ab + bc + ca) — abe &) 157} obd A2

® a+b @ b+c ® c+a

@b—a ® -b-c

AN aofl Wi WAz o= A 2|5t
(a+ b+ c)(ab+ be + ca) — abe
(b+c)a + (b2 + 2bc + ¢?)a + be(b + )
+c){a*+ (b+c)a+bc}
( c)(a+b)(a+c)
L@ b-axe A7t o




44.

—-a*(b - c) - b*(c

ol B 4 gl AL

@a+b @ 2a-2b
@ 2b-2c ® 0

® 2b-2a

a°l it Wdzte o= Aot
—-a?(b-c)-b*(c—a)—c*(a-b)

—b)a® - (c? = b?)a + bc? — b2c

- b)a® - (c - b)(c+ b)a + bc(c - b)

=(c=b)(a=b)(a=c)---Q
=(a=b)(b=-c)(c-a)--O
(b-c)b-a)la=c)---©
=(c-a)b-c)(b—a)---@®
QA A= BF A5 2a - 2b
O 1 AlE BE Ha o
€4 1 ATE B Hsel 25 - 2
@4 1 Alde 2 S5k 25 - 2




15. G855 (20) (2 ) Cio i we Aer
1000 1000
32 x 997° 32 x 997° 32 x 997°
O @ 10 ® - 10
32x 997 @ 32 %997
10
997 § 997 + 3

A Ao — 3 — & G HH — 10|22
Fold Al 1000JJr 1000 A<f 1000 ]

997 3
=—_ b=—,c=-10° ™

1000 Togr € = ~LoIFF st

a® + b3 + ¢3 - 3abe
= (a+b+c)(a®+b*+

a+b+c=0°] Hc}.
WA a+b+c=00]

2=

+c?—ab-bc—ca) oA @ +b3+c3 = 3abe

dZ o]-8ohH
drpae— (D) (B ) cpage
3abc = 3 x 1909070X103WX(_1)9}€22—E"
Foh g

3x% %x(_l):_ng_ogw




46.

a-b=2-V3b—c=2+V3A N Fa, b, col H3td a®(b-c) +
b*(c—a) + c?(a-b) o] G127

O+O& AR a-c=4
a*(b-c)+b*(c—a)+c*(a-b)
=a%(b-c) + b%c - b*a+ c?a—c*b
=a?(b-c) - a(b® - c?) + b*c - c*b
=da?(b-c)-alb+c)(b-c)+bc(b-c)

= (b-c){a®* —a(b+c) + bc)

= (b-c)la=b)(a=c)

=2+ V3)(2-V3)-4=4




47.

oL 3|Ate] A5 BEFAE 42t RYE<} AnAE THEL
At shFo AFHANA = RUEHE 400, B3 Fol = ATAE
10000 tf TH=C}H, Y E = 20000 W, 23] 7= 80000 7t THE-o] A H
BA R utgit), F AlFo] 2 g o] 2RtEH Qo]

FZ5to] A3t A QIS Eotofof ghtt. o] mf, -8 3] Afef A
FHA-L 50,000, FEofl= 70,000 Y2 A=} 2008 49 1Y
599 Ao2 HYEE, tag A0AE 56lth 20089
AG7A] G A 3|ALo| A A& FH-S Fotofzt,

> E: el

> HEF 390000 Y

—€B ~
49149, 4¥ 29 --- 2471, 2--- g 5HH

129 31 ¢ 2750t}

RUE7F-RE= Fo] 5a + 10|11

A0 7} 25 E = Fo] 8b + 20]H,

o g Fyo 8 »5a+1=8b+2

b=>5k+1, 5k+2, 5k+3, 5k+ 45 UsIH
b=5k+3 < o, AP},

O8ns gy SNtE = e
—40k +26 (k=0, 1, 2---) o]t

Fdof 22 g 24t

26, 66, 106, 146, 186, 226, 266 ©] 1

O]‘é %Jﬁo]o 501 zm—o 201 O]Eli

(50000 x 5) + (70000 x 2) = 250000 + 140000 = 390000




48.

F oA f(x) = (x=1)(x+1)(x+2),

o] Hjgert ol AAoleh. A% 0] S
» =

> HE a=2

g(x) =2x3—(a+2)x*—ax+2a
T-stofzt.

g(x) = (x = 1)(2x? — ax - 2a)
fx)=GE-Dx+1)(x+2)°l
A Ot (x— 1)(x+ 1) E
1) (k-1 +1) & o
2(-1)2-a(-1)-2a =04 a =2
sogx)=2(x-1)(x+1)(x-2)

i) (x-1)(x+2) & of
2(~1)2 — a(~2) — 2a = 0-8 # 0
i), i) oA

1 AT
= 1_
T g

2
(x=

g(x)=2(x-1)(x+1)(x-2)°]2 a

1)(x+2)

=2




49. the 5 ThA 4, B ABORATF Ol W, 4% g, 5]
¥ abE T-5FA?
A=x>—-ax—-2B=x>-2x2+bx+2

A=x3-ax-2 A+ B=x(2x>-2x-a+0b)
=

B=x3-2x+bx+2 A-B=2x>-(a+b)x-4
A, B AT}EOISL A + B, A— BO| ZtfEote} ARk
*E A, B2 FH47k ook

2% -2x—a+b=2x>-(a+b)x—4

na+b=2, —a+b=-

La=3,b=-

wetA, ab = -3




50. A AKx) =2+ px® +3x+ 1S GFA B(x) =2 +gx + 322
e U2 E R(x) 2 5HAE B(x) 9 R(x) o HHEFR7tx -1
o, R(2) 9] #2?

A=BQ+RIM A, B G.CM.T}B, RS G.C.M. & LA},
(& Euclid A4H)
J3B2 x - 12 A(x), B(x) 2] FoFoltt,
Al )—001]/\117—— ,

B(1) = 0914 g =
¥ =5x2+3x+1= (x —4x+3)0(x) + a(x-1)
FHol x =32 HYSHH -8=2a .. a=—4
o R(XY) = —4(x—1) .. R(2)= 4




